Name: Mental Subtraction
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Subtract to find the differences. Then, solve the riddle
by matching the letters to the blank lines below.

(K] 800 - 600 = [P} 800 - 500 =

[H] 700 - 600 = [E] 6,000 - 6,000 =
I} 50-40 = (0] 14,000 - 7,000 =
[E}80-20= [N] 9,000 - 4,000 =

Preview

Please log in to download
the printable version of this worksheet.

Y] 90-10= [NJ 1,000 - 200= [T 15,000 -11,000 =

Why was the music teacher locked out of her classroom?

Because
100 40 6,000 200 10,000 80 500
900 60 8,000 0 10 5,000
4,000 700 9,000 300 400 600 800 7,000
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ANSWER KEY

Mental Subtraction

-
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Subtract to find the differences. Then, solve the riddle
by matching the letters to the blank lines below.

(K] 800 - 600 =200 [P} 800 - 500 =300
[H] 700 - 600 =100  [E] 6,000-6,000=0
1) 50-40=10 (0] 14,000 - 7,000 = 7,000

[E}80-20 =60 [N] 9,000 - 4,000 = 5,000

Preview

Flease log in to download
the printable version of this worksheet.

90-10=80 [NJ 1,000 - 200=800 15,000 - 11,000 = 4,000

Why was the music teacher locked out of her classroom?

Because H E R K E Y S
100 40 6,000 200 10,000 80 500
W E R E I N
900 60 8,000 0 10 5,000
T H E P I A N (@)
4,000 700 9,000 300 400 600 800 7,000
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